o

w.r [
§3%| W wm,.mwxw e B
£L2'G66°L$ 15 B
£12'G66°L$ 1¥9'625$  |90€'8L0°L$ [#SS'90€ LS T |
£12'566'L$ GSY'ved W¥e3E| HEYEE- Y WMEEE
8G°0/6°L$ zLes HESER HEYE-YMETHE
9vG'0L6'L$ 0S¥'0L$ Vsl HEWS Y HTHEE
960'096°L$ 0v6'v9z$ |20£'GE0° LS FEXY| HEEE-YMETEE
¥G8'659$ v v$ BEE| HEYEE-Y ME(EE
01+'659$ 029°L$ FE| HEWE- YWSEEt
06.'€59$ 0019% BTy HEWE-YWE(HE
069°'/¥9% 000°c$ POy HENE- YWEHE
069'v19$ 005$ RV hER| HEYEE-Y MBS (EEt
061 'v¥9$ 000'22$  |000°02$  [66£°02$ SHNURE| HEXE-YMB(EE
16.'0£9$ 1v9'282% HEHS
8ev'cl6$ 000'02$ JEANRE HENE-YWE WL, Yi HEHS
8et'ce6$ LOV$ Y M Ve
L£0'€E6$ 000'25L$ YHEEES
1£0°18/$ 00Z'G8¢$ YEEEA BN Y S et
1£8'66¢£$ 00Z'GL$ YRS Y g8
1£9°08¢$ Sv8'0c$ =¥ P e Y ¥ s
26.'65€$ 00Z'v$ BEIES Y Y BT HES0L Y$E
265°65¢$ 025'SS1 YHESSEEHY Y ¥hisks
2.0'002$ 2.0'00Z$ BT EN Y GBI T Y s
ETEY EBTHEE | BEY W | B =B IEHZE /Y K

LUMG U T=E

TTHTEH e 901 & HLO HOT =501
FHEHRH Z/ Y $hit 8
B Em\[HEZELTE



